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N.B. : (1) Q‘ Ne.1 is compulsery
(+) Salvzany feur guestions from remaining six quesiions.
' Y Assumme subtable Jate iF required. ., S
(4) Yraw neat cketches wherever required. /
i {a} E»;':s’:‘in the worsing of Nozzle Flapper transducer. 5
rit¢ a short noic on pyrometer. 5
‘: ¢ssembpiy 20H8n7 represenis a ciearance 0it. State True ¢r railse £
:Ad 1astify
up:uin the arinciple of GO and NO-GO gauge 5
2 (a) While measuring speed of turbine with stroboscope singie line images  §
were observed for stroboscope setting of 2400, 3390, and 6000 rpm.
Calculate the speed of the turbine.
(b} Write short note on (Any Three) i5 l
Yy Mcleod Gauge '
(i) Auc imat .
(i.1) Piezoelectric Acceleromster.
(ivy Tocimaker's microscene 7]
3 (2} Eoolein jeneraiis=d measuremyani system elements with block diagram. 10 -
Teseibe its funstion with-suiiable example
(v} Sfate the prineirle of operaiion of comparator. Pvplam the principle 10 i
ard working of 1 pnemmatic comparator.
4. (a) Comparz thermoelccric sensors on the basis of basic principie of 10 )
working, materials used, characteristic behavior, range of operation
and their types wvailable. ' il
(b) State the working principle of LVDT with a neat sketch, indicating 10
majo- el=ments of it. State in brief, two practical uses of LVDT in .
mectanzal messurement. Indicate one similarity and one major
difference between LVDT and Piezoelectric transducer ]
5. (a) isefive strain gauge. What is gauge factor? Derive an expression for &
gzug: factor of strain gauge. 1
(*y Expluin ¢ he method of employing sine bar for angle measurement. 7 |
(¢} Defire satic characteristics @ 5
D Reasolution ii Sensitivity iii) Precision iv) Accuracy V) Drift
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RJ-Con. : 957815,
j CLofl




N

_ RJ-Con.

QP Code : 3717

2

(a) Discuse the clements of surface roughness.

(b) What is meant by a "Best wire size"? Derive an expression for it.

(¢) The sirees in M.S. flat circular diaphragm.

8= 3D*P - “
for Do ?.
where, D = Dia:ﬁeter in meter, t = Thickness in meter
P = Appiied pressure in N/m?
Caicilaie stress and maximum possible absolute error if
D=002n %19
1=0.00Z m= 6 X 10 %
P=40xi0" N/m*+1 %

(a) A strain gauye is bonded tc a beam 0.1 m long and has 2 cross-sectional
arez 4 cm?, f{‘uz* g's modulus of elasticity for steel iz 207 GN/m?. The
sirain guuge has an unsirained resistance of 240 & and a gauge factor
of 2.2, When a ioad is applied, the resistanc: of gauge changes by
0.013 &, Calculate the change in leagth of the stee! beam and the
amount of force applied io the beam

(b) Writz short nm% on (Any Three)

G deman gauge,
{ii) 13 ards of measurement
11i) Use of slip gaugeg
(tv)  Losd cell
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